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Starter – write your answers in here:
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Write a definition of business growth here:
____________________________________________________________________________________________________________________________________________________________________
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[image: ]Objective of growth 1: To achieve economies of scale (internal and external)


________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Benefits of economies of scale
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Economies of scale and average costs
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





[bookmark: _GoBack]
	Output in units
	Variable cost per unit
	Fixed costs for the production run
	Total costs of production 
	Average cost per unit

	100
	£2
	£500
	
	

	300
	£2
	£500
	
	

	400
	£2
	£500
	
	




1.Calculate the total costs of production for each of the three output levels (VC x output + FC)
2. Calculate the cost per unit (TC / output)
3. Identify at which level of output the business should operate





	Financial Economies of Scale
	

	Marketing Economies of Scale
	

	Technical Economies of Scale
	

	Managerial Economies of Scale
	

	Risk- Bearing Economies of Scale
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[image: ]Objective 2: Increased market power over customers and suppliers


________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Write about the Tescopoly site here:







Objective 3: Increased market share and brand recognition

Increased market share and brand recognition
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Objective 4: Increased profitability
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Problems arising from growth

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Problem 1 – diseconomies of scale (DEOS)

	Lack of motivation through DEOS
	Lack of co-ordination through DEOS
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1.Calculate the total costs of production for each of the four output levels (VC x output + FC)
2. Calculate the cost per unit (TC / output)
3. Identify what happens at 600 items




[image: Image result for overtrading]Problem 2: Overtrading


________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: http://i1.squidoocdn.com/resize/squidoo_images/800/draft_lens17725329module148778312photo_1299661396businessLrg.gif]

Problem 3 internal communication

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Great Britain grocery share data

W 12 weeks to 31 January 2016 W 12 weeks to 29 January 2017
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Output in units

Variable cost per

unit

Fixed costs for the
production run

Total costs of
production

Average cost per unit

100 £3.25 £500
300 £3.25 £500
500 £3.25 £500
600 £3.25 £4,000
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ExtractA
Microsoft buys Nokia handset business for €5.4bn

Nokia s selling its mobile phone division for €5.44bn (£4.6bn) in a deal that will result
in 32 000 staff transferring to Microsoft. This takeover marks the boldest step yet taken
by Microsoft in its recently announced strategy of moving decisively into the device-
manufacturing business. Prior to this deal, Microsoft provided Nokia with Windows
software at a reduced cost to prevent it from developing its own operating system.

Microsoft hopes this move will allow it to design hardware for its software products and
will therefore bring it the kind of success enjoyed by competitors such as Apple.

As part of this deal, Microsoft is also providing €1.5bn of immediate financing to Nokia
who have been unable to raise external finance. Even inside cash-rich Microsoft, Nokia's
phone division will face serious challenges. In 2010, revenue from sales of Nokia handsets
was €7.2bn. By 2013, revenue had fallen by 61%.

(Source: adapted from ‘China lfts 13-year ban on video game consoles’ by Fred McConnell,
7 January 2014, © Guardian News and Media Limited 2014)
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 Explain one reason why diseconomies of scale might affect a business such as
Microsoft.
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Extract C
Supermarket market share in 2015

Supermarket Market share %
Tesco 285
Asda 162
Sainsbury’s 161
Morrisons 1.0

The Co-operative food | 5.9

Waitrose 52
Lidl 43
Aldi 56
Iceland 22
Others 50

(Source: adapted from hitp//wwwkantarworldpanel.com/en/
‘grocery-market-share/great britain)
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Changes in supermarket market share in 2015
Tesco -1.7%
Asda -3%
Sainsbury’s |_JREY
Morrisons -1%
The Co-operative food 1%
Waitrose -.21%
Aldi I 1 7.6%
Lidl 1 7.5%
Iceland 2%

(Source: adapted from hitp:/www.cityam.com/226919/
trouble-for-the-big-four-as-aldi-and-idl-growth-speeds-up-again-)
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Morrisons aims to regain its market share. The two options the management are
considering are either to cut prices further, or to improve its overall customer
experience.

(e) Evaluate these two options and recommend which option might be preferred by
Morrisons’ shareholders.
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Evidence

Expanding retail estate

> Retail store and ConcessionMap 140
concessions stand-alonestores 100 |

L 27w ae a0 an
mstand-alone Stores = Concessions

S e e e

UK Stand-alone Stores
UK Concessions 1 30 51

56 75
Year-end square footage 58254 88939 126704 211,680 306571
Average Stand-alonestoresize 4845 4941 5068 5040 5110

Internet growth

- Objective: 20% of Group revenue

Revenue as a percentage of Group Sales

00%

0%

0%

'

oy c.a% 8%
%

Financial Year 2010 Financial Year 2011

Internet Revenue M Other Group Revenue

~To maximise UK revenue that supports UK retai rol-out without
compromising brand equity.

- Overseas:

~Tolaunch local language/currency websites to build brand awareness and
complement franchise store roll-out.

~ Participation from overseas websttes increasing.

(Source: adapted from SuperGroup Pic - Preiminary Resuts for the year ended 1 May 2011)
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Explain one way in which Superdry’s expansion (Evidence C) might lead to
diseconomies of scale.
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Evidence A
How superdry quletly took over the fashion world

This week, SuperGroup, the company that owns
streetwear label Superdry, has, yet again, proved
itself the indestructible superhero on the high street.
The retailer reported sales up 48% since April 2011,
its pre-tax profits stood at £50.2m and s share price
had City analysts yelling:Buy, buy!:

Superdry was set up in 2003. Julian Dunkerton, who
owns SuperGroup, already owned a brand named
Cult Clothing that sold vintage-looking, skater-ish
clothing and logo T-shirts to students n citis such
as Cheltenham, Oxford, Bimingham and Edinburgh.
One of the labels that Cult stocked was Bench -
skater brand known for its hoodies and T-shirts.
When Benchs founder and designer James Holder
left, Dunkerton proposed working together and
Superdry was born.

Since then the label has consistently outperformed
the competition. It added 18 UK stores in 2010,
taking the total to 60. A further 44 franchised stores were opened abroad last year alone,
taking the total o 80. It is the label most ikely to be worn by celebites like David
Beckham, Justin Bieber, Helena Christensen, Kristen Stewart and Ben tille. Indeed
Superdry attracts celebrities all the way down the food chain to Cheryl Cole's mate Derek
Hough who are actually willing to pay for the clothes (a feat in itself n the celebrity world
of ‘gifting’). Superdry is a modern sartorial phenomenon. And yet it sil flies under the
radar.

(Source: adapted from Imogen Fox,wwwguardian couk, 14 July 2011)

Feldanes B
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